NI RDD =

1/8
1/4
1/8
1/8
3/8
1/4
5/8
1/2
3/8
1/8

. 18.6
.11
.92

15.1

. 58
. 33
.21
. 0.2
.91

17.4

.11

10.5

. 144

11.2

.17

. 158

. 12.82
. 10.35
. 1275
. 7.07

.11
. 24

32

MATP 220 (T2

Issuec 4

Answer _Vey

45.

—-9_

25

. A=8,B=9

34

. A=8,B=1

. A=3,B=1

. A=8,B=9

. A=7,B=4

. A=6,B=7

. A=5,B=1

. 4x4=16

. 64 - 8=56 (books) left. Note: “12 books were by

the same authot” is irrelevant information.

. 30 (Pamela) & 10 (Queen)

33 (Pamela) & 13 (Queen)
120+20 = 6 hts

. 2X10x50 = 1000
. 4 boxes

. 78-18-27=233
. 2X99 = $1.98

. 25¥5=5
.78+ 13=91

. 574+ 23=280

. 7X8 =56

20x5 = 300
300 - 86 = 214

.11 +14=25
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86. 20 cups
87. 2+ 3 =5 cups
88. 15 cups

MATP 220 (T2) Issuec 4

89. 25 cups
90. 12+8=20
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